CLAMP ELEMENT SCE2253 Scezes 45x75

RARESR fEd SME
(mm)  (mm)

; . f
(ds>:€) N m' —/ ! \b %\

N Eim==
| |
R | : &3
: ! i s
L = e‘ M
FEBFIL/ :
&, 1. SCE225BY{HE /14849 7% SCE2008U1.5~24%,
2. WHMER~REISCE2008Y ,
3. BENENOINGE.
R, M8t wmncxEsmE (P BaB/IIMEoKB>2xL0>L0>0/2) H(MPe)
WRmAHEL Oo 2 8 SME ¢ KZB/ME (mm
1% THENLE HEA TR 1 .
g | 190K | 2003 | 2503% | 3003 | 3505 | 4003 :
Ll b Ll my | wn | s | 3L (@S| R |35 7L#K| FC250 | FC350 FCDA0OFCD450|FCDS00FCDB00 E& «10°
SCE225 | mm | mm \mm | (M) | (F) | (Ps) | (Pe) | (N) | (dsx &) | (Ms) $5400 | 55490 K z
dxD g |
N-m KN MPa | Mpa N.m

SC410{SC480
$200.N|S200.N S35C-N [S45C-NS55C-N
118 [ 102 [ 96 92 | 89 87 | 1.42 | 136
118 | 106 | 100 97 | 94 971562 I 76
118 | 106 | 100 97 | %4 92 | 154 | 171
(22T R 00215102~ 99 97| 1650 213
139 | 124 | 116 | 111 | 108 | 105 | 1.78 | 260
14g 28 121 116 113" ) 110 [1.89 | 314
173 | 153 | 143 | 137 | 133 | 130 | 3.46 | 736
178 | 158 | 148 | 142 | 138 | 135 | 3.65 | 861
201 | 174 | 161 | 153 | 148 | 144 | 3.84 | 1000 6
205 | 179 | 166 | 158 | 153 | 149 | 4.04 | 1154
207 | 182 | 170 | 162 | 157 | 154 | 423 | 1323
211 | 187 | 175 | 167 | 162 | 158 | 4.42 | 1508
234 | 205 | 191 | 182 | 176 | 172 | 6.80 | 2635
240 | 213 | 199 | 191 | 185 | 181 | 7.35 | 3320
268 | 235 | 218 | 208 | 201 | 196 | 7.90 | 4113
21901 E 208188230515 5000 | 216215 40111 |- 6832
311 | 272 | 252 | 240 | 232 | 226 | 11.8 | 8215
347 | 297 | 273 | 259 | 249 | 242 | 11.5 | 9778
351 | 305 | 281 | 268 | 258 | 252 | 13.3 | 11530
346 | 308 | 289 | 277 | 268 | 263 | 19.6 | 19440
381 | 334 | 310 | 296 | 286 | 279 | 20.6 | 22510
390 | 346 | 323 | 309 | 300 | 293 | 23.8 | 29290
398 | 355 | 333 | 319 | 310 | 303 | 249 | 33420

mm

45%x75 | 64 | 56 | 72 | 3100 137 | 162 | 97 8 | M8x50 | 40
48x80 | 64 | 56 | 72 | 3310 187514152 291 8 | M8x50 | 40
5080 | 64 | 56 | 72 | 3440 137 | 146 | 91 8 | M8x50 | 40
55%85 | 64 | 5 | 72 | 3790 137 | 132 | 86 | 8 |[M8x50 | 40

60x90 | 64 | 56 | 72 | 5170 172 | 152 | 101 | 10 | M8x 50 | 40
65x95 | 64 | 56 | 72 | 5600 172 | 140 | 9 | 10 | M8 x50 | 40
70x110| 78 | 70 | 88 | 9660 276 | 167 | 106 | 10 |M10x65 | 80
75x115| 78 | 70 | 88 | 10300 276 | 155 | 102 | 10 [M10x65 | 80
80x120| 78 | 70 | 88 | 13200 330 | 175 | 117 | 12 |[M10x65 | 80
85x125| 78 | 70 | 88 | 14000 330 | 165 | 112 | 12 {M10x65 | 80
90x130| 78 | 70 | 88 | 14900 330 | 155 | 108 | 12 |M10x65 | 80
95x135| 78 | 70 | 88 | 15700 330 | 147 | 104 | 12 |M10x65 | 80
100 x 145/ 100 | 90 | 112 | 24100 482 | 159 | 110 | 12 |M12x80 | 140
110x 155/ 100 | 90 | 112 | 26500 482 | 144 | 102 | 12 [M12x80 | 140
120 %165/ 100 | 90 | 112 | 33800 563 | 154 | 112 | 14 |[M12x80 | 140
130 180| 116 | 104 | 130 | 42300 650 | 143 | 103 | 12 [M14x90 | 220
140 x190| 116 | 104 | 130 | 53200 760 | 155 | 114 | 14 [M14x90 | 220
150 % 200| 116 | 104 | 130 | 65200 868 | 165 | 124 | 16 |M14x90 | 220
160> 210/ 116 | 104 | 130 | 69500 868 | 155 | 118 | 16 |M14x90 | 220
170 x 225| 146 | 134 | 162 | 87400 | 1028 | 134 | 101 | 14 M16x110| 340
180 x 235| 146 | 134 | 162 | 105700 | 1174 144 | 110 | 16 |M16x 110 340
190 x 250| 146 | 134 | 162 | 111600 | 1174 | 137 | 104 | 16 |M16x110| 340

200x 260| 146 | 134 | 162 | 117500 | 1174 | 130 | 100 | 16 |M16x110| 340
EREAHRENBREAE. BRIMERME, KRB REERH.

o | o | o|lN|o|lo | v~N|lolv~N|lololololololoal ool oSS S |BS

4-



